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CIVIL ENGINEERING

The drain which is provided parallel to roati_way to intercept and divert the water from hill slopes

1. '
(1) Slopingdrain = ey e, g (2) Catch water drain |
37 Side drain 4 (@) Cross drain
2 Intermediate vertical stifféners in plate glrders are used to-
(1) Prevent local buckhng of the web : (2) Prevent local bucklmg of the ﬂange _«_-
(3). Prevent exeeesr_ye deﬂechon & i j})’ Increase the bearing strength of the
B - a4 ek
@/ Contour lmes can unite only in ong condition, that is- . o _
(1) Cave _xp R L F D) Valley . i
_ (3 Vertical chff w*’ ; o e ; @) River bed b e
4.  Theload carrying capac1ty of a hehcally remforced cqumn as compared to that of a t1ed column
~ isabout- . WL N B L '
.(1) S%Iess' G 00kg el (2)' 10% less
W) S%more BT R 'I-(4) "'IO%mo're

- Consrcler the followmg statements :
‘The coefficient of permeabtllty ‘K depends upon ' \q, EL\Jl ..61?,
: 1) Vo1d ratio of the soﬂM \1 w (el
(ii) _D_uratlon of flow =~. . g 22
(iii)  Diameter of the soil grain .
(iv)  Shape of the particle - :
. Which of the above statement is correct“’

\_/'

(D 4wy 5 ) i @ ii-&iii.mﬂ)"f‘ "
' 'Ja) A, 1ii &iv only i« o (4) 111&1v only }o
6. The window prov1ded on the slopm g roof of a bulldln g is alled- Y,
(1) Dormer wmdow ; PR (2) Bay Wmdow
~(’3)’ Sky light window -~ 5 (4) Glazed wmdow 2

75 A survey doneé to understand the heavenly bodles 1s known as-

1) Cel i
1 Ce estral survey ((2‘)’ Astronomical survey

,(3) Photographic survey " (4) Aerial survey

k [02_] A Page 2 of 16
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A pnsmatlc bar when subjected to pure pending’ assumes the shape of-

(1), Catepary; . .0 (@ Cubic parabola
3) Quadratic parabola @ Arcor circle :
A symmetrical channel section is made of a material which i ewﬁﬂm‘

Cw It ‘Swd eam with its web honzontal to carry Ve vertica
loads. It willbe-

(D Strongest 1f't1ae weo is ueed as a top face  (2) 'Stmng"est if the "web is used as a

_ bottom face

’(3) ' Equally Strong in (1) and @) : @ Not possnble to state thch of the

10.-

11.

above statement is correct

Assertlon A According to IS: 456; over remforced sectlons are not pem‘ut\tgﬂ
. Reason R: -There is ductjle failurev-of over reinforced, 'section. s
Select your answer based on the codmg system given be]ow— ,

Q- Both A and R are true and R is the correct (2) Both A and R are true and R is not the

explanation of A . -~ correct explanation of A
\@’ AlS true but R is false - - (4) A is false but R is true
The phenomenon of decreased re51stance of_matenal due to reversal of stress is called—
(1) Creep | i (27 Fatigue
(3) Resilience . - (4 Plasticity

/@Resinsare’-l E A e oy : = !
G2 2 - : (2 Soluble in spirit

1_3. '

14

-Iﬁ 5

102]

" 1f a radius of curvature of a simp

(1) Notsoluble in water »
'-(3)/ Used in Vam15heS 7~ 4 Leftbehindon f5\!al3‘orat:|(:on of oil X

The two main gases obtamed from anaeroblc decomposmon are-

: (1) Amﬂ'loma and COz X () COx & CH4

ﬂ'f CH, & Hydrogen sulphide. ) y @)
le curve is 229.2 m, then its de gree of C“Wﬂture -

" Ammonia and CH,

W it LB e
@ A T

s ol oy £3
7 R T e 0. o o e T NG AT
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15.  Match the following- - . S0 8 oo Aot o} ¥

i

List I ' List II ' If

(B Hednesshe ) Winkler method
(B)  Chlorine_ (i) EDTA method |
(© DO (ili)  Orthotolidine test ! : E
(D) Chloride (lV) Mohr method ' T

Codes- ' _ L ' T N, |
A B © O |
W G G @ gy
@ @ ™ G, G -
@ O G G) oGy £ b 3m A0 00 2
4) (i) (iv) (i1) (i) _ C V‘"
16, As per15:456 the value of f, at outermost tension fiber is-

(1) 0.02+ (fy! L5E) . . - (2) 0.0035 + (fy/1. SES)
_3) 0.002 + (fy/1.15E5) ' (@) 0.002 + (f,/1.5E;) -
@ The COIldlthI'lS requ1red to be sattsﬁed for the analys:tg of indetermi M@E&
(1 Equlhbrlum \ (2) Compatibility 4_—

3) Force-d1splacement re]attonshlp g " /4)’ " All of these

18. - Inslope deflection method the joints are considered rigid when- .
(1) nochangei in Value of the angles between 2) 90° angle between the members in

members frame
(3) 180° angle between the members in (yf all of these
beams - :

'19.  The most suitable equipmept for compacting clayey soils is a-

(1)  Smooth wheeled roller - ' (2) Pneumatic tyred roller

NE2 .Sheeps foot roller - | . 4) Vlbrator E N :

20. ' Bullet proof g]aé,s-is made of thick glass sheet Sandw1<:_hed by a layer of-
(1) Steel : ) (2) Stainless steel g *\. ey _
(3) . Vinyl plastic : ‘ 9)’ Chromium plate - o ~

@_ An unSUpgorted excavation is made to the maximum possﬂ)le depth i in a clay soil having y=18 ]
KN/m3, C=100 kN/mz ¢=30°. The active earth pressure, according to Rankm s theo _y, at [ﬁif-—/

| T wlelv =g
basemojwn is- ‘. : ,N'l . va\ov =12 ! | \
1) 115.47 kN/m’ \c,,\a—\ (}y/ 54.36 KN/m? SR )1 S
| B sk | - AN S
(3) 2718 kN/m’ .-\w\,{@ : o (_4) 13. m 3 83,
o e~ I 7 4 S ﬁ“ﬁ/; =
B N R e DI E
' ? /'b" Q”/,Z’ 3 \g.c? \anf \/
-5 : y 5 T
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23, A beam of uniform strength contains same- v T . | - =
1) IBénding Moment _' ' m’ "Bending stress - mc’/ ﬂl)'e,
. i l . . . . ) /—/ -
(3) Deflection L @ Stiffnessy - :

23. The vertical member used in ddor framé is called-

L Post . ity ' (2) Hangingstyle
@) Sill | - (@) Rail
@/ In the sj_rEI_]_l_:l_fi@d d?ELgrl of angle iron purlins, which;one of thé_, following assumption w.ould not
Jbe valid- ' e - ‘ ' At
(1) Load component acting normal -tfo“ the - (2) Bending - moment _abo minqr
slope is cons}dered R ~ axis is considered , v

(3? Allowable bending stress is ilo__t__r,egu(;ed-' @ 'Slopc of the roof should not exceed

__3_@’
25.  Consider the following impurities- - ‘
@  COyandHS
(i) Finely divided suspended matter
_(111) " Disease causing bacteria
(iv)  Excess alkalinity
The correct sequence of the removal of these i impuritiés in a wa wn_plam is-
W G666 L@ () Gv) () Gi)
3)- @ (w) (11) (iii) £ s (4) (iv) () (iii) (i)
@ Efg_gr_glglgsmtable for usein- '
&y~ Joinery work.. | (2 Floors of dance halls

(3) ‘Bearing of bndgcs ~

/(/Yf Hard duty rubber Coating of floe.

27. Drops are provided in flat slabs to'resist—- |

)
(3

(027 §X

thrust _ ~ - (2) bending moment

torsion . = (@~ shear

Page Sof 16
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:"..28 List I lists toolsfmstruments while List II lists the method of surveymg Match the
tool/mstrument thh the correspondmg method of s surveymg. 5 |
List I % © ListIl *

Alidade ~_...——@)  Chain surveyirg"
AmOW—"__ i) Levelling

Bubble tube_ —tiii) . Plane table surveying
Stadia hair (1v) Theodolite surveying
P Q.: Ru '8 - | e

® G G 6y
@ @ @ G @
@ O 6 G i | - e
) (i) M ) (Gv) RRLd ) B « i

02 PO

29. A catchment area of 60 ha has a run off coefficient of 0%0 If a storm of intensity Bbcm/h and
duratlon longmime of concentrahon occurs in the catchment,.then what is _t_h_c_geak
~i;hschargt-‘:'f' Q o= @ :
ay 20m¥s | () l«"(K"/q’ﬁ) 3.5 m’s TR
Oy S - /,(4»06‘6 @ 25m¥s -
30. The pmperty of the ingredients to separate from each other while placing the. concrete 1s called-
B Segregation i O R P’ . Compactlon
(3)  Shrinkage: 3T . Bk
| 31.  The first observatlon taken on turnmg point 1s- e
Llr)’ Back sight PSR LSRR Foresight =
Q) Intennedlate sight - (4) - None of the abo?e e P
The Pins_ky;Mar[ens apparatus are used for conduct]ng the %.- :
<_ﬂ)/ Fire point - -_ | i (2) _ Ductlllty 9 %
() Viscosity 3 s 4 : (4)  Penetration -

33. Undlsturbcd tests are reqmred for conductmg_

(1) Hydrometer Test ey (2)" Shrinkage Limit Tes;
3) COI'ISOI]dathn Test 4 ' JAT Specific Gravily Test-

34, The standard mcndlan of India is-

M 35 . @ 82230
[OREE" B RORSPS -
(027 £X} Page 6 of 16
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35.  Lacustrine soils are obtained _f_r_dm~ |
.. (1) River
3)

Sea X I

“(2) -Glaciers
(4 Lake beds | = 8
56:..; £'msts watersample'of 2.l 1s Trisla i 300 ml in BOD bottle wnh distilled water. Initial

DO of the sample is 8 mg/ﬁ and after 5 days it is 2 mg/0.What is its BOD " e 3‘}

(1) 894 mg/l ; s v i

| J2) * 900 mg/t
(3) . 300 mg/t o T SR e

A

1200 mg/0 £ Yoo

Khosla’s formula for assessing pressure distribution under weir floors are hased on-

(1) PMEH -E?I‘rneablellayers_j_qg_t ; }3')/‘ ;t}oundary 1a_yer flow with gﬁgssﬁre

~_.beneath the floors
3)-
flow into the W plane

Conformal transformation- of potential. 4)

~ - drop longitudinally
-Simpliﬁcation of 3-D flow -

38, _I Whenwnce in helghts between the extremltles of ‘a chain length (0) _hgn.the
correction for the slope required is- - B
(1) b/ | (2) h2/0 BE i!' L
A B T e @ h2 L
39. Bulkiiig éf sand is maximum if m_o_istﬁre content is about-
. 2% LI @ 4%
(3). "5% o e o 10
40 - Force. cmMMfor thc analysw of an elementary proﬁle of a grav1t¥__cLa£____1mcu3£’¢mp[y |
. Ieservoir ¢ C(}ndltlon are- , | iy .
1) Uphft pres{surcl 9 -_ \/ ' - (2) Watgr pressure %
\/(35’ Self—welght o - 8 @ _'Wavg pressure " 3

41. The workmg conditions in m(L,ﬁmnﬁ are-

1) aeroblc Only p

“aerobic

Ne)

anaerobic in upper compartm_entl ,

' Page 7016

027 X1

(2_5

in lower compartment and (4)'

anaerbbic only
anaeroblc in lower compmment 5
an

aeroblc in upper companmem
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T~ . . ’ : .
) . 2 v 2 4
. 3 I‘:; 3 :

42.  For the plane frame as shown in the figure, the degree of kinematic indetenﬁjhécy neglecting -

ial deformation, is-

Hinge £,

' o)

gk |

@ 3
@3 7 .
A b_“_I.LIMCk is not used for- :
(1) Rounding off sharp corners .z 2y Pillars
) Decoration purpose Al e ge e
@/ Tacheometry is adopted where- Soflat B 5% 4

(1) Too many curves exists at .the border . \_(;)/ Qbstgcles, undulation eXIlSLZS
(3) Limitation of space exists - : (4) None of the above

45.  Which of the following sewage treatment methods has inherent Ergl_nlems of Odour,‘pond'mg and

fly nuisance?. - . L -
M- U_ASB systeni g ) 2) " Activated sludge‘proccss_ _'
_3) Trickling filters - | (4) Stabilization ponds | o
46. 1In a transit ‘theodolite, and incidéntal error due ‘to et:cenhicfity_ of Verniers is primarily
| encountered by- a N | _ . _ | |
Nyl | Reading both the verniers | @ Reading different part of main scale.
£ _ | 3) . Reading' right and left faces 4 (4)° Taking both right swing readings
47, TIncase of t ws]z.brthe lmutmg deflection of the slab is- | |
(Y Primarily a function of the long span (2) ' Primarily a funcuon of the short span’
3) Independenf of long or short spans (4) Dependent on both long and short

| 6o S - spans
(@/ M‘a_xwelfs reciprocal theorem in structural aﬁalysis-
}13/ is true for any structure obeying Hooke’s (2) can be ap_plied to the rotations caused
law s o by flexure, shear or torsion
(3)_ is ugeful in analyzing mdetermmatc (4) all of these

structures

[0

027 JX
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| 49. Aperson standing on the bank ofa canal drops a stone on the water surface He 110t1ces that tne

disturbances on the water surface is not travellmg upstream.: Th1s 18 beCaUSG the flow in the

canalis- P Lt T et 2 'O{,&-Z’%Dl -
w ‘Sub-critical by B E ‘2). Super-critical PpaEs 4t 4 s _Dr;'__ . fg}

- - (3) Steady | - - @ Uniform g Q =T l
Two beams of same material have M@_@al area. If one beam  has square cross- ,---,;_.
section and the other has circular cross section- _ : < A

(1) Both the beam w1ll'be equally. strong x ) Circular-section Wiu be stronger © o> 5
/(_37 Square section will_be stronger - (4) - Strength depends - on loading ’ s
: | condition A/ . : L I
51.  Consider the following statements- 2ent
e - The economic spacing of s roof truss depends on cost of purlms and cost of roof
covering. .\ : .
II- Purlins provided over roof trusses are designed as a continuous as per 1S:800.. 'u/

II-  Bearing stiffeners are pr0v1ded in a plate gn‘der to prevent web buckling. X
- The correct statements are-

(1) T, IIand III are correct . R (2) OnlyIand III are correct
(3) Iand Mlarecorrect = . . @ Tand I are correct
52, Excess of silica in the clay- e, 5 5ny. 7 : R 2T _
' {(,H’ Makes the brick brittle & weak s (2) Changes the colour of brick from red
to yellow : :
- 3) Improves 1mpermeab1hty and clurablhty (4) Makes. the brick crack and wrap on
- of the brick = - drying :
;@/ The tendency of a stone is, to Spllt along-
‘Texture &~ = T i 2 Fracture
(,3)/ Cleavage ¢ LI o ) ‘Structure e

/s 54. TheR.L.of the point ‘A’ Wthh is on ﬂoor is 100m and back sight reading on ‘A’ is 2.445m, ]f
the fore51ght reading on the pomt B wh1ch is on ce111ng is 2.745m, the R.L. of point ‘B’ wi]]

.b(CI_) 94.8(‘)'111.' " (2) 9971m - IO%\’W
(3 10029m M7 10520m _,Qg.,q s

cthn ‘A’ is subjected to a'tensile'load P, th.eﬂ.the
————'ﬁ.—-__q:___‘_‘

3 @ A pnsmatlc member with area of cross se

he dlI‘CCthIl of load respectlvel are-
maxnnum Etfgrjﬁﬁiimd its IH_QLI_I}EEI_QI‘—W“h t y

' 2) . P/2A and 45°
(1) P/Aand60° . ) Y) ’E’ﬁ

(3) P/2A and 60° M P/A and 45

02 {X e " Page9of 16
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57.

}3) equivalent single axle load S @)

2

61.

"_62.'

102

(024 span/250° . " % ¥ ) spanléso" i 7 o
(3) - 20mm ‘ " (4 Both (2) and (3) _'////
« |

am to tt the-sand filters used in the water mdustry: 2 i

The followmg charactenstlcs pert _ )
3 day) g
I. Filtration rate is 1 to 4 m”/ (m
IL Typlcal duration of operanon in Sﬂ‘l@wﬂ‘) 72 hours

. Operation cost is low | ,
aracteristics per tain to Slow sand filters’

Wthh of the above CW

(1) - 1, Mand Il ‘(2) [and T <
'(3) Iand II[ (,4')’ Iand III

It is a common practice to dgsig_ﬂilllﬂl—"l@y to accommodate trafﬁc volume correspondmg to-

(028 30 hour . (2) Peak hour
() ADT ' (4) 15-min peak hour

~As per IRC guldehncs for designing flexible pavements by CBR method the Ioad parameter

required is- - EBR "

(1) - number of commefcial vehicles per day  (2) * cumulative standard axlps in msa

. number of vehicles (all types). during

_ . design life |
As per IS' 456-2000, the final deflection due to all loads including the effects of fempcrature
crcep ancl shrinkage and measured from the as-cast level of the supports of ﬂoors roofs and all

other horizontal rnembers should not normally exceed-

A 8 hours unit hydrograph of catchment 1S mangular in shape with a base ‘width of 64 hours and
peak ordinate of 20 m?/s. _The equilibrium dlscharge of S-curve obtamed by using thls 8 hour&%\oﬁﬂ -

unit hydrograph is- . 4, - =) \
@M 6om’s v}/ N, & (2) somys N7 L6y
) 100 Ny e g T !

A footmg of Mxerts a umform pressure of 150 kN/m? gy the soil. Assuming a load |

dispersion of 2 vertical to 1 honzuntal the average vertical stress L stress (kN/
m 1 at 1.0 m below th
footing is-. - i

() - geti o "R '_(2)__80 |
507 ; @ 100
he earth pressurc behlnd a bnd ge abutment is- '
‘@) | Active . . :(2)_' Passive |
&) | Atrest S PR - @ Constant alwayg and everywhere

X ' g '. : _ I'-Page.:lﬂoflﬁu' : W—-ﬂ_\mxl . ;‘('/@

Q”U_\_) g
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. 65.

66.

2 102]

)
@)

@ Gv)

Pl‘octor test
Vane test .
Penetration tes
Hydrometer test
A B
) Gv)
(v)  Gi) - @
(11) (ii1)
()  Gv) (i)

D
(iii)

MatCh _];jtsf ;Test) w1th list I (meGﬂY) and select thé correc

List II

(i)

(@)

@)

(1) Grain size anal
(i) - Shear strength
\(iii) * Bearing capacity
Compaction

n a counterfort re[mmng wall, the main remforcement is provi

®
(ii)
(iii)

(i)

Bottom face m front counterfort ~~
Inclined face in front countq:rfort
Bottom face in back counterfort\/
-Inclined face in back counterfort \—

The correct answer is-
(i) and (ii)
(i) and (iv)

Tie bars in CC'roads are at-

NN
_3)

1) E_xpansion j'oints

3) .

‘Warping joints ~

70% index of wetness means-
e =

(1)’ Rain excess pf 30% .

'(3) Rain deficiency of 70%

For a fEiti/n&lg_ggy to be in stable cquilibrium,

(1) Below the cc;wfir’am_;,r_ »

Above the center of buoyancy w

@

The maximum dlameter that a caplllary tube can hav

mm s achieved when the tube is dlpped mto a body of liquid with surface tension = 0.08 N/m

@)

2y :Rain deficiency of 30%

None of the above
W\

its metacenter should be-

and dens1ty =900 kg/m is- _'

slr)/ 3mm
(3)

X

Smm

i

AL EY

@
@ -

(i) and (iii) | |

1 a_n'swer—' '

y51s '

ided on the-

(iii) and (iv)
(2y Contraction joints N ¥ 5 =
Longitudinal joints %@’ gt

4)

@)

(2)
“@

Below the ccnter of buoyancy\
JA) Abovc the center of grav1ty o

e to ensure that a capillary rise of atleast 6

6mm

Bmm

e T
o

e

-

N d
; QWWUQ \(tgx
T e T e
Lt "X Ea

f"",:;:qOO)H o
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E for initial settlngtlme is- :
y at apparatus |
69. The diameter of needle in u" ,(2‘)/ : 1 ’

0.5 mmv ;
E:I;; Smﬁn | (C)R IIOmm
70.  As per IS:800, the maximum bending moment of gms—
(1) WL/6 ' ' (2)° WL
(3) WL/A4 ‘s [

© Where- W = udl; L = Span of purlin .

: @/ A traffic rotary _]ustlfled where-
" Number of intersecting roads is between_ _,(?6’ Space is 1i

nutecl and costlg_~ * +

3) - 25’81:;? g:affic' volume is > 6000 (4) When traffic volume is having%
vehicles/hr  limit of 500 vehicles per ho‘fr%/}
72. The overflowing sheet of water on a eir is called- AR
(1) Head ' . g2y Nappe C ek
3) Upstream Y0 = ey Gt S T

@ In a plain concrete pedestal of M35 gradc the maximum bearing Pressare at the base is found
: K o be 40N/mm Find the depth of footlng, if the projection beyond the column is 300 mm. '

() 3.1m | 0)5'0 q,a @ 26 m .
3) . 2 4m : _ @) 19m
74.  Most common method of pre- stressmg used for factory productlon is-
(1) - Long I__me method e ! /(2)' Freyssinet system e
(3)_ . .\MagneI-B.laton system © s @ - Lee-McCall system: 40 MYM
Thexiﬁdblown soils are associated\@lt I_ o, B8 | . a0 = \2L N ;
() cAlinvialsoit— . 0 YL ) Lateriticsoil . ‘E@m
(ﬁ Loess — 'i s e B @ Black Cotton soil X | - '
76. The deientlon time for a water sedimentation- tank using coagulated raw _s_ugpllg_ may Y?f)’
between- . F g | R '
i 1 to2 hiours . @ 2t4hous
(3) 4to8hours 2, . 4) 16I to 24 houre

77, The dllit;ag_lgy_ correctlon in Standard Pcnetrahon Test (SPT) is glven by-
M N"=15+(N 15) 4 - }2{ N’ = 15 4+ S (N - 15)

= ot 2ok g o . @ N =15+ (N-10)
3) .N-—15+2(NI__10)_ .

[02]' s  Page120f16
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81.

Ne)

83.

The Reduced Levels (RLs) of the points P and Q are +49.600 m and + 51. 870 m respectively.

- 85.

b

79.

80.

8.

An iso_bai' is a line which connects a oints low the ___qund' surface at which- '
- (1) Thelocal ground elevation is same ~ (3) The settlement is same PP
, sk, ) The vertical stress is same " (4) The ground elevation is varying
Methemoglobinemia or blue baby is caused gy fo- _ = e o :
(1) . Chlorides | . (2) Fluorides
.(3’)/ Nitrates | L (4) Sulphides
In India which teChllOlOSY 18 hlghly adopted for fluoride removal? _
(1) Aeration ~A ' (2) - Lime soda technique
3J  Nalgonda Method " (4) Ozonation % . J
RC - 2; MC-2 and SC-2 correspond to- :
. Same Yiseosity . | (2)  Viscosity in increasing order from ‘
i _ ; RC-2 to SC-2 :
() Viscosity in decreasing order from (4) None of the above
~ RC-2t0 SC-2 . . "
Ona Wtem with two way traffic, the total number iflict poi s are-
1) 32 ' @ 16 | AT |
The shape factor of an isosceles trian gleshouldbe- . ' J q
® 154 - b s o B - 4
(3) 234 @ 2 ' ’ - e

Distance PQ is 20 m. The distance (in m from P) at which the +51.00 m contour cuts the line 2

1) 1500 m | - @y 1233m

@ 352me S @ 22Tm e T e 5l

The general requirement in constructing a reinforced concrete road is to place a single layer of - .

reinforcement-- - N ' - aw, - CNer W =

(1) - Near the bottom of the slab (2)  Near the top of the slab aqb 9 V-

\9)/ Atthemiddle = @ Equally distributed at the top and"ier 22 |
R e S R " bottom L 2,

Hydraulic lime is obtained by- At - ey T -

() Flyash » . 4 Bumingofkankar - - - qa

'~ (4 Calcination of pure clay ' %6

3) Redstone % (o, lled | | '
'St_eps sifiah At norfnally maggula.f-iﬂ shape are Ca AL b : : —_—
s ©° " (2) Radial steps AN

Wy Angul‘ar-SItSPS N X

B O Windes | @ Spiral'steps =
> - _ IRC is-
: 88, Fﬂr a transi[lon curve, the Shape rcCOInmended by_ 18
WMF_-— , " (2 Lemniscate
Sp1r_al , (4)  All of these
i ®)  Cubic parabola” = : R -
[02] m _ = page 13 of 16
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89. ASDhalt concrete is a mix g,ﬂlpﬂs‘_“g Of- _
mineral filler and "(2) Fine aggregate and bitumen

(1) Fine aggregate,
Y -

bitumen

3) Coars:a/ aggregate, fine aggregate, mineral (4)/ Coarse aggregate, mineral' filler and
i . $ : .

~ bitumen '
the cost of trusses should be equal to-

filler and blturﬁen

90. For the otho be minimum,

) _ .
. (‘\(\\V ) : /(,r)' | twice the cost of purlms plus lhe cost of (2) twice the cost of roof coverings plgs
' 4 o« UL Bl
% ¢ roof coverings ST the cost of purlins ‘

purlins A cost of roof coverings -

The intensity of u.d.l. which, when it acts over the entire span of lmw Of
- rectangular cross-section of width Qf_ 100 and depth 200 m, ﬁ\_\f_?}lld Emduce a maximum

%/ 3) the cost c;f roo“ffoven'n gs plus the cost of (4) twice the cost of purlins plllS- twice the

stz""/\ * shear hear stress of 1.5 N/mm?, is- : E i e
g ' (1) 30 kN/m ' ity (2)' 26.6 kN/m . 5
_'_.q,, ‘{i er 20kN/m - e nl B R (4) 36.6kN/m Q=-—% M ]
1 40 @ For a road with camber oﬂi%,and the design speed of 80 km/hr the minimum radius of the
too* qu@\ " _ curve beyond which no su super;gl_e&agmm___s_ne‘eded is- @ . L”) V& NV \ Ut
RS 0371) " 1680m _ P 2) - 944m "ot 0
\qu 3) 406m s ot ) PBOSE &7 T L (33— @W
: A honzontal water ]et with a velocity of 10 m/s and cross-sectional area of 10 mm? strikes a flat

') ﬂxhﬂ X/ plate held normal to the flow direction. The density of water is 1000 kg/m The toy_ﬂ_@_r_@ﬂ
' ~ the platle due to the jetis- 9 Qv - W/f’(ba ) \¢ X ‘ﬁ“o/k‘hjf-'ﬂ S‘ | \‘7%3

IS S R 110 o R . @ 10N g, 9
@ OIN PR WlN% |
o4, - Inthe propped cannlever beam carrying a uniformly dlstnbuted load of WN/m, shown in the

Ifollowmg figure, the w- ! i ’_‘ % 0
5

CWKN/m . T

IQ‘II\II\P\I'JIM%B ﬁ‘» A @
o 2w - G /ﬂﬁ SWL B

A

NN N

TR e B @,wL
T AR N 5 e @ 3, " g
WL T T T g
021 | Page 14016
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R 9:5 A queen closer is a-
@ Bnck lald with its length P&l‘allel o (2) Brick1ai d Wlth lts breadth parallel : :

face or dlrectlon of wall. the face or dlrecuon of wall.

| /(,3)/ Brick having the same length and depth. @, Ban with half the width at one end
 as the other bricks but half the breadth, ~ - and full Wldth at the other.

: 96 The shape of the STOP SIgn according to IRC: 67 200! is-

@) Clrcular_ ¥ ""\ 2 @) T;langular
_ j})/ - Ocltagonal - Q\OQ o : (4) Rectangular
97. 'I‘he bulk modulus of K, modulus of elastlcny E and Ponseon 3 ratle 18@ -then r\_wv_l)l:h of the
fol]owmg is true- e EG,’LM) ._ e ‘;l(:ﬂ"’\ll | _ o _
el £ it ior M N Y

- . i : 2 : e
/y»c( g '=3K(1—-—) 5 @ E=3k(1+-)
L m _ : :
A trapezcudal channiel is 10.0 m wide at the base and has a side slope of 4 honzontal to3 vemcal
The bed slope 1S 0 002. The channel i is lmecl w1th smooth cencrete gManmng EN= 0 012). The
for a depth of flow of 3 m iss.- \o* ,. .

hy(LEl,lgladlllS (in m) __,?__"_ - \OA w'b[uH : _ T N\‘f =3 ! /
1) 200 Lo £y 2) 3.5 3

® 30 ‘po o, E® ""““lgﬂ\ w/?l | QW"*'@*@

X
99. - For pipes, turbulent flow ocours: “}'?cn R_‘E’E’me is | e %’h '&\
(1) Less than 2000 : o (2) Between 2000 and 4000
| (ﬁf -More than 4000 | ok o . _ (4) None of the above _ _
100. Fora givgljlzgaf_fﬁfﬁﬁgl_@_ﬁ_‘_ym;:—ﬁmmmt seetion, the ipteneity of shear stress is maximum
S at the- | T ‘ | | |
@) Jl.lllCthB of the ﬂange and the web, but on () ]unctnon of the flange and the Web
* web. A 8 et o0 . but on the flange.
‘_ ((»Bj‘ centroid of‘the section ' _‘ ; (4) extreme fibres
XX
o Xt - " Page150f16

Scanned by CamScanner



